Multiplying and Dividing Multi-Digit Numbers

Solve.

S U3x8=

D 42 x 6l =

O 834:8=_

W 4ab + 74 =

E 9x648=

Y 289:72=

J 22Axb628 =
2720+ 6=

K 53x28=

A 2Bbb+ U2 =

Each person below i
‘the problems above.
above the answer.

Soldier

s answering the question,
Find the answers in the codes belo
Keep solving until you have deco

U
FoUyg7x12=
L H20x2M4=

5432 + 55 =

Q89 x 62 =
U277 +18 =

527 x 398 =

5859 + 55 =

378916 =

= =3 0 zz

“How's business?” To decode their answers, solve
w. Write the lefter of each problem
ded dll three responses.

“Mine is
B8788  USar2 1Mt agr2
SEL 1069 o8 57762 '
ez ot o3l ush 19
"Mine is .
T52 OW2 20976 Q4 57762
8088 106r2% 1o 236r13
et 57762 6L 209746
“Mine is :
STl 0080 ot oW 19 Ul
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